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To understand the relationship between numbers in

different columns

1

How many tens are there in 3007?

How many tens are there in 7607?

How many tens are there in 3,600?

How many tens are there in 3,000?

How many hundreds are there in 2,3007?
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What number is shown on the Gattegno chart?

What number is ten times the size of the number shown?

What number is one hundred times the size of the number shown?

What number is one-tenth the size of the number shown?

It is 344km from London to Paris. How far is this in metres?

A large bucket has a capacity of 25l. How many ml is this?

A piece of string measures 45,000 millimetres. How many metres is
this?
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1 a) How many tens are there in a) 30
300? b) 76
b) How many tens are there in c) 360
7607 d) 300
c) How many tens are there in e) 23
3,6007?
d) How many tens are there in
3,0007?
e) How many hundreds are there
in 2,300?

2 a) What number is shown on the 6,280

a)
Gattegno chart? b) 62,800
What number is ten times the size | c¢) 628,000
of the number shown? d) 628
What number is one hundred

times the size of the number

shown?

What number is one-tenth the

size of the number shown?

3 a) It is 344km from London to a) 344,000 metres
Paris. How far is this in metres? b) 25,000 millilitres
b) A large bucket has a capacity c) 45 metres

of 251. How many ml is this?
c) A piece of string measures
45,000 millimetres. How many
metres is this?

For more resources and intervention support go to thirdspacelearning.com



